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There are eight members in the family Anil, B C
D, E, F, G and H with four generations. F is
father of Anil. C is daughter-in-law of E, who is
srandmother of B. Anil is father of B and D who
are of different gender. G is the son of H, who is
the wife of B.
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There are eight members in the family Anil, B e
D, E, F, G and H with four generations. F is
father of Anil. C is daughter-in-law of E, who is
grandmother of B. Anil is father of B and D who
are of different gender. G is the son of H, whois
the wife of B.

Which of the following statement is true?

01. C is the father of H.

02. B and D are cousins.

03. E and F are married couple.
04. D is the uncle of G.

05. H is the brother-in-law of D.
4 @Reasoningbybasantsir
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There are eight members in the family Anil, B, C,

D, E, F, G and H with four generations. F is
father of Anil. C is daughter-in-law of E, who is
grandmother of B. Anil is father of B and D who
are of different gender. G is the son of H, whois
the wife of B.

How many female members are there in the
family?

01. five
02. Four
03. Three
04. Six

“4 @Reasoningbybasantsir 05. Cannot be determined
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There are eight members in the family Anil, B, C,

D, E, F, G and H with four generations. F is
father of Anil. C is daughter-in-law of E, who is
grandmother of B. Anil is father of B and D who
are of different gender. G is the son of H, whois
the wife of B.

Who among the following is one of the couples?

01. Anil and C
02. E and Anil
03. Fand C
04.D and H

05. Cannot be determined
4 @Reasoningbybasantsir
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Seven persons Preeti, Lovely, Riya, Mohan, Om, HNH’a‘]
and Kopal were born on same date of different years
among 1975, 1980, 1981, 1987, 1992, 2000 and 2001 but
not necessarily in same order. Two persons were born
between Om and Mohan. Om was born after 1987. Kopal
was born just before Mohan. Lovely was born five years
before Preeti. Niraj was born after Riya but not in 2001.
Neither Lovely nor Preeti was born in 1987.
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Seven persons Preeti, Lovely, Riya, Mohan, Om, Nll‘aj
and Kopal were born on same date of different years
among 1975, 1980, 1981, 1987, 1992, 2000 and 2001 but
not necessarily in same order. Two persons were born
between Om and Mohan. Om was born after 1987. Kopal
was born just before Mohan. Lovely was born five years
before Preeti. Niraj was born after Riya but not in 2001.
Neither Lovely nor Preeti was born in 1987.

What is the difference between the ages of Riya and Om?

01.8
02.9
03.10
04. 6
0S.7
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Seven persons Preeti, Lovely, Riya, Mohan, Om, Nll‘aj
and Kopal were born on same date of different years
among 1975, 1980, 1981, 1987, 1992, 2000 and 2001 but
not necessarily in same order. Two persons were born
between Om and Mohan. Om was born after 1987. Kopal
was born just before Mohan. Lovely was born five years
before Preeti. Niraj was born after Riya but not in 2001.
Neither Lovely nor Preeti was born in 1987.

How many persons were born after Preeti?

01. One
02. Two
03. Three
04. Four
05. Five




D MISSION BANK-2024 2o <=2 (i

Seven persons Preeti, Lovely, Riya, Mohan, Om, Nll‘aj

and Kopal were born on same date of different years
among 1975, 1980, 1981, 1987, 1992, 2000 and 2001 but
not necessarily in same order. Two persons were born
between Om and Mohan. Om was born after 1987. Kopal
was born just before Mohan. Lovely was born five years
before Preeti. Niraj was born after Riya but not in 2001.
Neither Lovely nor Preeti was born in 1987.
was born after

01. Niraj — Om

02. Riya — Niraj
03. Preeti — Lovely
04. Lovely — Kopal

- - 05. Kopal — Niraj
7 @Reasoningbybasantsir oOpal — Niraj
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4 @Reasoningbybasantsir

Seven persons Preeti, Lovely, Riya, Mohan, Om, Nll‘aj
and Kopal were born on same date of different years
among 1975, 1980, 1981, 1987, 1992, 2000 and 2001 but
not necessarily in same order. Two persons were born
between Om and Mohan. Om was born after 1987. Kopal
was born just before Mohan. Lovely was born five years
before Preeti. Niraj was born after Riya but not in 2001.
Neither Lovely nor Preeti was born in 1987.

Who was born in 1987?

01. Preeti
02. Lovely
03. Mohan
04. Niraj
05. Riya
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Seven persons Preeti, Lovely, Riya, Mohan, Om, Nll‘a_]
and Kopal were born on same date of different years
among 1975, 1980, 1981, 1987, 1992, 2000 and 2001 but
not necessarily in same order. Two persons were born
between Om and Mohan. Om was born after 1987. Kopal
was born just before Mohan. Lovely was born five years
before Preeti. Niraj was born after Riya but not in 2001.
Neither Lovely nor Preeti was born in 1987.

How old is Lovely now, considering 2020 as current year?

01. 45
02. 55
03. 65
04. 35
0S. 30
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A certain number of persons are sitting in a stralght row"
facing the north direction. Suvidha is third to the left of
Savita and one of them sits one of the extreme ends. Four
persons are siting between Suvidha and Smriti. Saroj sits
sixth to the right of Smriti, Sabbo sits second to the right
of Saroj. Total number of persons are sitting between
Saroj and Sabbo is equal to the total number of persons
are sitting between Sabbo and Rita. Sanju sits seventh to
the left of Rita and immediately right to Sita. Shubham
sits exactly between Sita and Soniya but not the right of
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A certain number of persons are sitting in a straight row
facing the north direction. Suvidha is third to the left of
Savita and one of them sits one of the extreme ends. Four
persons are siting between Suvidha and Smriti. Saroj sits
sixth to the right of Smriti, Sabbo sits second to the right
of Saroj. Total number of persons are sitting between
Saroj and Sabbo is equal to the total number of persons
are sitting between Sabbo and Rita. Sanju sits seventh to
the left of Rita and immediately right to Sita. Shubham
sits exactly between Sita and Soniya but not the right of
Sita.

What is the position of Savita with respect to Smriti?

01. Immediate left

02. Immediate right
03. third to the right
04. second to the left

4 @Reasoningbybasantsir 05. None of these
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A certain number of persons are sitting in a straight row
facing the north direction. Suvidha is third to the left of
Savita and one of them sits one of the extreme ends. Four
persons are siting between Suvidha and Smriti. Saroj sits
sixth to the right of Smriti, Sabbo sits second to the right
of Saroj. Total number of persons are sitting between
Saroj and Sabbo is equal to the total number of persons
are sitting between Sabbo and Rita. Sanju sits seventh to
the left of Rita and immediately right to Sita. Shubham
sits exactly between Sita and Soniya but not the right of
Sita.

How many persons are sitting in the row?

01.18
02.16
03.10
04. 14

4 @Reasoningbybasantsir 05.11
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A certain number of persons are sitting in a straight row
facing the north direction. Suvidha is third to the left of
Savita and one of them sits one of the extreme ends. Four
persons are siting between Suvidha and Smriti. Saroj sits
sixth to the right of Smriti, Sabbo sits second to the right
of Saroj. Total number of persons are sitting between
Saroj and Sabbo is equal to the total number of persons
are sitting between Sabbo and Rita. Sanju sits seventh to
the left of Rita and immediately right to Sita. Shubham
sits exactly between Sita and Soniya but not the right of
Sita.

How many persons are sitting to the left of Savita?

01. One
02. Two
03. Three
04. Four

4 @Reasoningbybasantsir 05. None
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A certain number of persons are sitting in a straight row
facing the north direction. Suvidha is third to the left of
Savita and one of them sits one of the extreme ends. Four
persons are siting between Suvidha and Smriti. Saroj sits
sixth to the right of Smriti, Sabbo sits second to the right
of Saroj. Total number of persons are sitting between
Saroj and Sabbo is equal to the total number of persons
are sitting between Sabbo and Rita. Sanju sits seventh to
the left of Rita and immediately right to Sita. Shubham
sits exactly between Sita and Soniya but not the right of
Sita.

How many persons sit to the left of Smriti?

01.5
02.6
03.7
04.8

4 @Reasoningbybasantsir 05. None of these
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A certain number of persons are sitting in a straight row
facing the north direction. Suvidha is third to the left of
Savita and one of them sits one of the extreme ends. Four
persons are siting between Suvidha and Smriti. Saroj sits
sixth to the right of Smriti, Sabbo sits second to the right
of Saroj. Total number of persons are sitting between
Saroj and Sabbo is equal to the total number of persons
are sitting between Sabbo and Rita. Sanju sits seventh to
the left of Rita and immediately right to Sita. Shubham
sits exactly between Sita and Soniya but not the right of
Sita.

How many persons are sitting between Shubham and
Saroj?

01. One
02. Two
03. Three
04. Four

4@Reason|ngbybasant5|r 05. Six
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A, B, C,D, E, F and G are living in the seven
floors of the seven storey apartment numbered
from 1 to 7. Floor 1 is the lowest and floor 7 is the
highest. G is living on an even numbered floor. B is
neither at the top floor nor at bottom floor. There
are three floors between F and D. C lives
immediately below G. Only one person lives below
D.

A, B, C, D, E, F 3R G |Td HRIAT UT¢HE hl ATd
Tt iR 1 @ 7 A% ¥ ® © § Ui 1 aed
fFoet 7 o die 7 999 S= 31 G U 9w
SHATTehd WiSTeT UR L& €| B?ﬁﬂaﬁmnﬁlﬁ’ W
T SR T &t waw et 4iiet W 21 F iR D & o
&1 HiTet 81 C, G & 3tk M T 21 D o < hdlet
Teh SA Tk T&aT 2|
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A, B, C, D, E, F and G are living in the seven
floors of the seven storey apartment numbered
from 1 to 7. Floor 1 is the lowest and floor 7 is the
highest. G is living on an even numbered floor. B is
neither at the top floor nor at bottom floor. There
are three floors between F and D. C lives
immediately below G. Only one person lives below
D.

If A lives below B, then who lives on the topmost
floor?

01. A

02. F

03.D

04. E

05. G

4 @Reasoningbybasantsir
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A, B, C, D, E, F and G are living in the seven
floors of the seven storey apartment numbered
from 1 to 7. Floor 1 is the lowest and floor 7 is the
highest. G is living on an even numbered floor. B is
neither at the top floor nor at bottom floor. There
are three floors between F and D. C lives
immediately below G. Only one person lives below
D.

On which of the following floor does B live?

01.5

02.3

03.2

04. 6

0S. 4
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A, B, C, D, E, F and G are living in the seven
floors of the seven storey apartment numbered
from 1 to 7. Floor 1 is the lowest and floor 7 is the
highest. G is living on an even numbered floor. B is
neither at the top floor nor at bottom floor. There
are three floors between F and D. C lives
immediately below G. Only one person lives below
D.

Which of the following statement is true?

01. F lives on the 3rd floor.

02. F lives immediately below G.

03. B lives immediately below G.

04. C lives on the 4th Floor

05. C lives on the 3rd Floor
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Statement / Y :
Some Sand are milk.

Only few Coffee are soft.
No weak is Soft.

Conclusion / fAs&y :

|. Some Coffee are milk.

Il. No milk is Coffee.

lll. All Coffee is weak is not possible.
IV. Some sand are weak.

01. Only | and Il follow.

02. Only Il and lil follow.

03. Either | or Il follows.

04. Either | or Il and Ill follows.
05. All follows.

4 @Reasoningbybasantsir
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Statement / Y :

No goat is a bull.

All bull are monkey.
No monkey is moose.

Conclusion / fAs&y :

I. No goat is a moose.

Il. Some goat are moose.

lll. Some bull are moose.

IV. Some monkey being goat is possibility.

01. Only Il and Il follow

02. Only Il follows

03. Either 1 or Il and IV follows.
04. Only | follows

05. Only | and Il follow

4 @Reasoningbybasantsir
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Statement / Y :

Some Airplane are Basket
Some Basket are Cups

All Basket are Drum.

Conclusion / fAs&y :

I) Some Cups are Drum

Il) Some Airplane are Drum
lll) Some Cups are Airplane
IV) No Cup is Airplane

01. All follow

02. Either lll or IV and Il follow

03. Both | and Il follow

04. Both | and Il and either lll or IV follow
05. Only IV follows

4 @Reasoningbybasantsir




D MISSION BANK-2024 z;{-zf‘%w

Statement / Y :

Some Airplane are Basket
Some Basket are Cups

All Basket are Drum.

Conclusion / fAs&y :

I) Some Cups are Drum

Il) Some Airplane are Drum
lll) Some Cups are Airplane
IV) No Cup is Airplane

01. All follow

02. Either lll or IV and Il follow

03. Both | and Il follow

04. Both | and Il and either lll or IV follow
05. Only IV follows

4 @Reasoningbybasantsir
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If in the word COMBINATION, each letter Whlch‘ls
comes after L in the English alphabet is replaced by the
previous letter and each letter which is comes before L in
the English alphabet is replaced by the next letter and
then all the letters are arranged in alphabetical order

from left to right. Which letter is seventh from the right?

Ife COMBINATION 9752 W, 30T SUMHTAT H L % 1

ST TTET T TR T Dot 1o O SEeT T ST § 9

S FUHTAT § L | UgeT AT ATA Tk AR hi' 3TTA

TR T TaT 2T ATaT 2 AR R |t 31ert &t a6 | 21

gmw?ﬁm&wmw%lﬁ?mamaﬁaﬁ?
qTaai 22

01.M
02. L
03.J

04. N
05.D
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How many such pairs of digits are there in the
number 4275163908 each of which has as many
digits between them in the number, as they have in
the Number series (forward and backward)?

HEAT 4275163908 ¥ forar oo m%m%ﬁmﬁﬁ
Tk % ST 3a9 & 3k § Ry fF 379 ot T
SREET | Bl 7 (AT 3R U)?

01. Four

02. Five

03. Two

04. Three

05. More than five

4 @Reasoningbybasantsir
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There are six persons namely A, B, C, D, E andF
They are arranged in descending order of their
age from left to right. No two persons have the
same age. E is younger than A but elder to B. B is
not the youngest. E is 25 years old. The difference
of ages of D and E is20 years. C is the second
youngest person.

e SR 37T A, B, C, D, E 3R F g1 3w 3T 30
%Wmﬁmmﬁﬁwﬁmﬁmﬁwm
w%lﬁsﬁﬁﬁa‘r—aﬁﬁq‘raﬁmwﬁ‘@ﬁ%l
E, A ¥ BieT & AfhT B ¥ 92T 81 B 9a® SieT T2 2
Eaﬁwzsa&%maﬁwmﬁmaﬁrmmaﬁ%
C IO GaH BIeT 4w 2
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There are six persons namely A, B, C, D, E and F.
They are arranged in descending order of their
age from left to right. No two persons have the
same age. E is younger than A but elder to B. B is
not the youngest. E is 25 years old. The difference
of ages of D and E is20 years. C is the second
youngest person.

If the sum of ages of A and E is 70 and the sum of

ages of F and D is 89 years then what is the age of
D?

a) 55 years
b) 20 years
¢) 15 years
d) S years

e) 10 years
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There are six persons namely A, B, C, D, E and F.
They are arranged in descending order of their
age from left to right. No two persons have the
same age. E is younger than A but elder to B. B is
not the youngest. E is 25 years old. The difference
of ages of D and E is20 years. C is the second
youngest person.

If the sum of ages of A and E is 70 and the sum of
ages of F and D is 89 then what is the possible age
of C?

a) 45 years
b) 10 years
c) 26 years
d) 2 years
4 @Reasoningbybasantsir e) 30 years
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There are 6 persons namely A, B, C, D, E and F. They all'are
sitting around a circular table facing the centre. Each one of
them likes a fruit namely, Apple, Banana, Guava, Mango,
Papaya and Orange but not necessarily in the same order. A
likes apples and is sitting second to the left of B. The one who
likes mango sits between the one who likes apple and B. C who
likes papaya sits opposite to E. Two persons are sitting between
B and F. The one who likes guava sits immediately to the left of
the one who likes apples. D and B do not like mango. D sits

second to the right of E and likes orange. . )
Igl 6 sufda 3147 A, B, C, D, E 3K F &1 3 ¥t &g &
IR AW & Th gaHR A & aRi AR $5 51 394 &
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There are 6 persons namely A, B, C, D, E and F. They all are
sitting around a circular table facing the centre. Each one of
them likes a fruit namely, Apple, Banana, Guava, Mango,
Papaya and Orange but not necessarily in the same order. A
likes apples and is sitting second to the left of B. The one who
likes mango sits between the one who likes apple and B. C who
likes papaya sits opposite to E. Two persons are sitting between
B and F. The one who likes guava sits immediately to the left of
the one who likes apples. D and B do not like mango. D sits
second to the right of E and likes orange.

Which fruit does F like?

a) Mango
b) Apple
c) Guava
d) Banana
e) Papaya
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There are 6 persons namely A, B, C, D, E and F. They aII are
sitting around a circular table facing the centre. Each one of
them likes a fruit namely, Apple, Banana, Guava, Mango,
Papaya and Orange but not necessarily in the same order. A
likes apples and is sitting second to the left of B. The one who
likes mango sits between the one who likes apple and B. C who
likes papaya sits opposite to E. Two persons are sitting between
B and F. The one who likes guava sits immediately to the left of
the one who likes apples. D and B do not like mango. D sits
second to the right of E and likes orange.

How many persons are sitting between A and E, when counted
to the left of A?

a) Two
b) Three
c) One
d) Four
e) None
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There are 6 persons namely A, B, C, D, E and F. They all are
sitting around a circular table facing the centre. Each one of
them likes a fruit namely, Apple, Banana, Guava, Mango,
Papaya and Orange but not necessarily in the same order. A
likes apples and is sitting second to the left of B. The one who
likes mango sits between the one who likes apple and B. C who
likes papaya sits opposite to E. Two persons are sitting between
B and F. The one who likes guava sits immediately to the left of
the one who likes apples. D and B do not like mango. D sits
second to the right of E and likes orange.

Who is sitting opposite to the one who likes orange?

a) C

b) E

c) The one who likes mango
d) The one who likes apple
e) F
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There are 6 persons namely A, B, C, D, E and F. They aII are
sitting around a circular table facing the centre. Each one of
them likes a fruit namely, Apple, Banana, Guava, Mango,
Papaya and Orange but not necessarily in the same order. A
likes apples and is sitting second to the left of B. The one who
likes mango sits between the one who likes apple and B. C who
likes papaya sits opposite to E. Two persons are sitting between
B and F. The one who likes guava sits immediately to the left of
the one who likes apples. D and B do not like mango. D sits
second to the right of E and likes orange.

Who is sitting second to the right of C?

a) D
b) A
c) E
d B
e) F
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There are 6 persons namely A, B, C, D, E and F. They aII ‘are
sitting around a circular table facing the centre. Each one of
them likes a fruit namely, Apple, Banana, Guava, Mango,
Papaya and Orange but not necessarily in the same order. A
likes apples and is sitting second to the left of B. The one who
likes mango sits between the one who likes apple and B. C who
likes papaya sits opposite to E. Two persons are sitting between
B and F. The one who likes guava sits immediately to the left of
the one who likes apples. D and B do not like mango. D sits
second to the right of E and likes orange.

Which pair of name - fruit is correct?

a) F-Apple

b) D-Guava
c) B-Mango
d) A -Papaya

e) B-Banana




Join my
TELEGRAM GROUP

) @reasoningbybasantsir

Daily PDF of all YT sessions
Discussion / Doubt Solving
Direct Interaction with me
Quiz
@ Polls



MISSION BANK-2024 g@%

4 @Reasoningbybasantsir




